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(i) ST YRder & U9 Y8 W SR 1 AN 1 M, SHHieh, AT &5 1 M 1R fove
o vl ¥ fafag)

Write your name, enrolment number, Al name and subject on the top of the first page of the
answer sheet.

S o~

1. ffafed § 9 fdl T 999 1 ST AT 40-60 T | i) 2

Answer any one of the following questions in about 40-60 words.

(a) T 3R SEHT TRl Th SFAHR Ueh & STHA-EMH & S W @ g1 IfE eh &1 /b 120
. x 50 #. B @ A Rl ST ot b IH TH b ¢ HA G ®A fohadt g T HE q=;M?

(418 11 @)

Sunita and her friend were standing at opposite corners of rectangular park of size 120 m x 50 m.
For meeting her friend Sunita followed the shortest route. Find the distance covered by Sunita in

doing so. (See lesson 11)
(b) GETH UG 107 . x 103 H. AT T FARR GEUE €| SISO & Goll b1 FART Hd Y ard
o 59 22/~ wfq ot et w5t W @ feran wiwet S < w2 (U3 4 W)

Sandeep had a rectangular piece of land measuring 107 m x 103 m. Using algebraic formulas, find
the amount he will have to pay as Property Tax at the rate of Rs. 22. per square meter.

(See lesson 4)

2. frafafed § 9 fodl T 999 1 S 40-60 =g § <fSU 2

Answer any one of the following questions in about 40-60 words.

(a) Tl WM @1 YR @ A ABC &1 T ¢ fS@sh TR 101 45° 3R 60° il LA &1
qAfgaS AE @9 Sl BC &1 E W el §4: A¥ BC R @& AD @9 it BC &l D W fia|
/DAE ! AT¥| 399 I H1 W9 AT T % SR T H1

(U8 10 W)
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(b)

Drawa ABC with base angles 45°, 60° and any convenient base. Draw AE as angle bisector of
ZA meeting BC at E. Again draw AD perpedicular to BC meeting BC at D. Measure ZDAE.
Verify your answer with Geometrical results. (See lesson 10)

T MR U G qEAl b U ugYS % SR 1 Uh Wd ¢, TN R W S=iH A ar
afefl ®1 a% § S Ul q) 9ty Y @ 1 G- 9T § sie 21 Hiel 3R udelt ar § 9 fehwent
g SAfue gRft qun =7

(418 11 @)

Ramu and his three brothers owned an agricultural land of quadrilateral shape. They fenced its
boundary with a thick metallic wire. Later on, they divided the land in 4 parts by fixing a thin wire
along its diagonals. Which of the two wires (thick or thin) was of larger length and why?

(See lesson 11)

frafafea o 9 fwEl TF 999 T ST AT 40-60 V& H i) 2

Answer any one of the following questions in about 40-60 words.

(a)

(b)

Th HR § %9 30 W @ TSR J g fom H9R #) =E a1 SeEE R 60° ¥ SE T o
30 HiX 3R WM W 3T 931 o 39 R0 30° T T | WAR H SR TG FE H SR
TEEdl H (18 23 3W)

An Engineer standing on the ground level at certain distance from the tower observed that angle
of elevation is 60°. By moving further distance of 30 m away from his original position he ob-
served that the angle of elevation is 30°. Help him to find the height of the tower.(See lesson 23)

e 3R ET A s € fag W wHw: SW SR gd e w1 iR wer e A w5 wHg 9K
T o TE| SEA HEY 1 B R d SU qal = b g9 s6d 2 fR . stfues 5 g 2
I 39 THF 39 S &1 W 10 TR 8 q Fan S=iA fRa-fEa g @ wh(Te 6 3W)

Manisha and Sandeep started moving from the same point in North and East direction respectively.
Manisha got tired after some time. She talked to Sandeep on phone and came to know that he has
travelled 2 k.m. more than her. If distance between them at that very moment is 10 km, then find

the distances travelled by them separately. (See lesson 6)

frafafed § 9 fwel TF 999 AT ST AT 100-150 e H <ifSU) 4

Answer any one of the following questions in about 100 to 150 words.

(a)

3HI LCD (TV) T & foau ush viem & 71 38 91 g31 7 30,000/~ o7 Al TV 7% 34
W 5% 9221 ot Hehal & &l 5000 &, ThS <HR 19 IR WG fohwdt Wl feran S gk
2, A a8 10% HIfgh X & =t 31 <A WHE § TV & i w9 Gedl § @ 3T g

(T8 9 W)
Ankush wanted to purchase a LCD (TV) and went to a Showroom. He found that LCD with

marked price of Rs. 30,000/-, is available with Cash payment alongwith 5% discount or for Rs.
5000 as cash down payment followed by 3 equal monthly installments with interest at the rate of

10% per month. Find the difference in amount payable under the two schemes.  (See lesson 9)
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(b) e faomarg Bt s SHeh1 TRgd o g0 oFId| 31 Tiehs iR 3= ok &1 &2 THag

s & 3w = H9 em? (T8 12 <H)
Draw the Circumcircle and Incircle of any Scalene Triangle. Are Circumcenter and Incenter
coincident? Make the similar observation for an Equilateral Triangle. (See lesson 12)
frefafed o 9@ forelt T 999 1 ITW T 100-150 ¥ H ) 4

Answer any one of the following questions in about 100—150 words.

(a) = U HR IR A e qEve diufq SH w eTEfed gl SUhT SFE A H

(T 20 <H)
A plot of the following shape and dimensions was allotted to Mrs. Jain. Find its area.

(See lesson 20)
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(b) T faemem ¥ B @ & fau e < opfa w9 < il Suers €1 A B e ¥ Ee o
%1 @ 5000 % ® df € s R W I Fh & i fhaw @d smwm? (U8 14 W)

In a School two flowerbeds as given in the figure are available for planting. If cost of planting
flowers in smaller flowerbed is Rs. 5000, find the cost of planting the other flowerbed at the same

rate.
(See lesson 14)
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J= & T ufEeet 5 gt ¥ ¥ S T giEsE 4R s 6

Prepare any one project out of the given below :

(@)

(b)

2015 § BH orcl foReft fpshe B9 & YR W T i RO sAd forad <H0 a9 & ©d &1
o H Bq =1 9l R eI (IS 24 3H)

Observe a Cricket match to be held in 2015. Prepare a project report indicating comparison of the
performance of the two teams with respect to (See lesson 24)

(i) Y& faarEr gh I ©
data of individual scores
(i) = I & ufa SfeR & ofHa @
team-wise average score per over
(ili) T Feciars & W K
run rate of individual batsman
(iv) T TEES B W R
run rate of individual bowler
(v) T SR o 3irEd fasme
average wicket rate per over

(vi) g foR @ S Sl @ Sectars i e T S @ aeR 2 (i) § (v) 9 % Slehel
9L TH | 9|

Explore if run rates of individual batsman are nearly uniform for the two teams or not. Present the
data from (ii) to (v) in the form of Bar Chart.

A & 319 T faamer & 9 & HeH &1 fafe= @l & fTu TR &@ 1 3% o =ed o
& A gY fo6 ©el &1 HEE 2000 W, 500 T WG T ARG €, TR @Rl S| s fom g
TR W § e fohaT = ow W § |uiii- (U8 9 WH 20 W)

Suppose you are interested in getting a contract of Landscaping of a School playground measuring
2000 m x 500 m. Prepare a landscape and find the estimated cost by thinking in the following
directions: (See lesson 9 & 20)

() < * foau www w

Racing track to be cemented
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(i) afeltare ST YaRT HIS, Uil TR o I@ih Tl

Volleyball Court to be cemented, poles to be fixed and demarcations to be made

(i) SMf&Re dfa T IR HIe, qA T d T@HAT B

Basketball Court to be cemented, poles/baskets to be fixed and demarcations to be made
(v) o FZ SR S HE & fAw am we

Some area to be dug for practice of Long Jump and High Jump

(v) oAUt Tf9 ST{UR |8 3 Tall o off wftfaa &3

You may think of some other games/ sports which you would like to have in the playground.
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